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Question 1:

As an exercise, a company ask it sor and purchase manager to independently rank its 8

main supplies (A,B,C,D,E,F,Gid der to value o the company, taking into account such factors

as reliability, volume, spe nd product quality. The two managers ranked the sup-pliers in |-
- order of preferences -
[Store ~ |E H D A F

supervi‘sor‘ Ry ‘ L

Purchase |E. D € A H F

manager :

Use the spearman rank correlation to determine the amount of agreement between the two. Can any

conclusion be deawn about the supplies/ ———— 7 - — === e T

—- + ——FOKOBO ENTERPRISE has just increaseits capital-and the official value of its shares, and the
subsci’ipy_ioq rights are as follows at the DOUALA stock exchange for 10 consecutive days (in 000°’s
fcfa).
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a. Evaluate the linear correlation coefficient between the variable x1 and yi.
b. Dectermine the equation of the regression function x and y which will enable to estimate yi

¢. Represent the cloud of points and also the regression function on an appropriate graph.

Question 3.
In order to acquire good will, Mr. Zoufu is given the possibili D ch ¢ of the following
hypothesis:
- 10 minutes’of 10000fcfa each, payable on every 31% Decemigr thebl ™ being paid after two years
- Or, 12 equal interest are evaluated at 4 percent pe

l)etermme the value of the semi annual paymeént.

Question 4:
SIMPLIICTY HOTEL decides to '(_lepreeiz_ilte equpiient Whose vale is 531000fcfa within 6 years why
depreciations which are in an increasing. neticProgression with a common difference of 15000fcta.

After the 37 depreciation, the manager 0 depreciate‘the equipment with depreciation which are

_in decreasing geometric progre S g that the 6™ depreciation which is consequently the last in

the 2™ system of depreciatign ¢ 3 depreciation;

4.1 Determine the val ne first 3 depreciation
4.2 determine the . of the geometric progressmn
4.3 Determin the 4™ and 5 depreciation.
' Question 5:

A capital investe dt a rate 1 during 8 years. The ratio of the interest yielded during the first 5 years and
the interest yielded during the last 3 years is 0.802451

5.1 Determine the rate of investment
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— Thebillof exchang&armgeomemc progression: theitproduct is-8*1015-Their common ration i is 2;
_a. Calculation the value of the first bill. i R
b. Calculate the value of the second and the thlrd bills.
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